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m Box-and-Whisker Plots- display how the
data is distributed along a number line

m Box-and-Whisker Plots- divide the data
into four quartiles.
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Note that quartile sounds like quarter. Each quartile is one
quarter or one fourth of the data. In other words, each quartile
IS 25% of the data.
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Example

m Consider these test scores:
m5060637183838587 9098 99

m These scores can be shown as a list or
we can display them in a box and
whisker plot.
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Try This
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Try This

12 13 14 15 16 17 18 19 20 21 22 23
| | | | | | | | | | | |

What is the median? 18
What is the 15t quartile? 16
What is the 3" quartile? 21
What is the minimum value? 13

What Is the maximum value? 22




Interpreting a Box-and-Whisker Plot

What does the box-and-whisker plot tell you about the data?

. ! t r—

| | | | | | | | | | | | . Height

|
| | | | | | | | | | | | | il
A2 50 52 54 56 S8 60 62 64 66 68 70 72 \mches)

e [he left whisker is longer than the right whisker. So, the data are
more spread out below the first quartile than above the third quartile.

e [he range of the data is 72 — 50 = 22 inches.




Interpreting a Box-and-Whisker Plot

Which statement is true about the double box-and-whisker plot?

Your class - + + +—'
Friend's class -—+ + +—-
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(A) Half of the test scores in vour class are between 85 and 100.
(B 25% of the test scores in your friend's class are 80 or above.
(€ The medians are the same for both classes.

(D The test scores in your friend’s class are more spread out than the test
scores in your class.
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(B 25% of the test scores in your friend's class are 80 or above.
(€ The medians are the same for both classes.

(D The test scores in your friend’s class are more spread out than the test
scores in your class.

The range of the test scores in your class is less than the range in your
friend’s class. Also, the box for your friend’s class is longer than the box
for your class. 50, the test scores in your friend’s class are more spread out

than the test scores in your class.

-:+ The correct answer is (D).




